DAY	CLASS	9.00-10.00 AM	10.00-11.00 AM	11.00 AM -12.00 NOON	12.00-01.00 PM	01.00-02.00 PM	02.00-03.00 PM	03.00-04.00 PM
	HS 1 ST YEAR	ENG 34	PSC 34	ENVS. 34	MIL AS 34 MIL HIN 28 ALTE 31	AD AS 34 AD HIN 28	ECO 34	EDU 34
	HS 2 ND YEAR	ECO 33	ENG 33	MIL AS 33 MIL HIN 28 ALTE 31	PSC 33	HIS 25	EDU 33	LOGIC & PHIL 33
-	UG 1 ST SEM	PHIL M/M 37	EDU M/M 37	PSC M/M 37	ECO M/M 37	MDC 1 37	ENG M/M 37	SEC 1
MONDAY	UG 3 RD SEM	PSC M/M 49	PHIL M/M 49	HIS M/M 49	EDU M/M 49	ECO M/M 49	AS M/M 49	MDC 3 49
∑	UG 5 TH SEM	HC-5016 PSC 31 EDU 44 DIGITAL PHIL 03 ECO 12 HIS 25 HIN 28 AS 42 DIGITAL ENG 30 Phil RC 04	HC - 5026 PSC 44 DIGITAL EDU 41 PHIL 03 ECO 12 HIS 25 HIN 28 AS 31 ENG 42 DIGITAL ECO RC 04	Edu RC 32	HE – 5016 PSC 32 EDU 41 PHIL 42 DIGITAL ECO 43 DIGITAL HIS 26 HIN 46 AS 25 ENG 30 HIST RC 03	RG/GE PSC 33 EDU 32 PHIL 12 ECO 04 HIS 26	HE – 5026 PSC 32 EDU 41 PHIL 26 ECO 12 HIS 43 DIGITAL HIN 42 DIGITAL AS 31 ENG 30 PSC RC 03	HIN RC 31 AS RC 32

Westelle

DAY	CLASS	9.00-10.00 AM	10.00-11.00 AM	11.00 AM -12.00	12.00-01.00 PM	01.00-02.00 PM	02.00-03.00 PM	03.00-04.00 PM
	HS 1 ST YEAR	MIL AS 34 MIL HIN 28 ALTE 31	EDU 34	HIS 34	ECO 34	LOGIC & PHIL 34	ENG 34	PSC 34
	HS 2 ND YEAR	PSC 33	ENG 33	EDU 33	MIL AS 33 MIL HIN 28 ALTE 31	HIS 33	LOGIC & PHIL 33	AD AS 33 AD HIN 28
	UG 1 ST SEM	EVST VAC 1 37	HIS M/M 37	AS M/M 37	EDU M/M 37	ENG M/M 37	HIN M/M 37	ECO M/M 37
TEUSDAY	UG 3 RD SEM	SEC 3	AS M/M 49	ENG M/M 49	PSC M/M 49	HIN M/M 49	EDU M/M 49	PHIL M/M 49
TEU	UG 5 TH SEM	HE-5026 PSC 41 EDU 40 lab PHIL 03 ECO 12 HIS 26 HIN 46 AS 28 ENG 30 ECO RC 04	HC - 5016 PSC 32 EDU 41 PHIL 03 ECO 12 HIS 26 HIN 25 AS 28 ENG 30 HIS RC 31	AS RC 32 HIN RC 31	HC - 5026 PSC 32 EDU 41 PHIL 03 ECO 12 HIS 26 HIN 25 AS 42 DIGITAL ENG 30 EDU RC 04	SEC	HE-5016 PSC 32 EDU 41 PHIL 25 ECO 12 HIS 26 HIN 28 AS 31 ENG 30 PHIL RC 04	PSC RC 32

Divisional

DAY	CLASS	9.00-10.00 AM	10.00-11.00 AM	11.00 AM -12.00	12.00-01.00 PM	01.00-02.00 PM	02.00-03.00 PM	03.00-04.00 PM
	HS 1 ST YEAR	PSC 34	LOGIC & PHIL 34	ENG 34	HIS 34	EDU 34	AD AS 34 AD HIN 28	ENVS. 34
	HS 2 ND YEAR	EDU 33	ENG 33	PSC 33	AD AS 33 AD HIN 28	ECO 33	LOGIC & PHIL 33	MIL AS 33 MIL HIN 28 ALTE 31
I.Y	UG 1 ST SEM	HIS M/M 37	AS M/M 37	SEC 1	PSC M/M 37	PHIL M/M 37	AEC 1	EDU M/M 37
WEDNESDAY	UG 3 RD SEM	HIN M/M 49	ECO M/M 49	MDC 3 49	PHIL M/M 49	ENG M/M 49	HIS M/M 49	PSC M/M 49
WEDI	UG 5 TH SEM	HE-5016 PSC 41 EDU 40 lab PHIL 03 ECO 12 HIS 26 HIN 28 AS 31 ENG 30 PHIL RC 04	HC - 5016 PSC 32 EDU 41 PHIL 25 ECO 12 HIS 26 HIN 28 AS 31 ENG 30 PSC RC 04	AS RC 03 HIN RC 31	HC - 5026 PSC 32 EDU 41 PHIL 12 ECO 03 HIS 26 HIN 46 AS 31 ENG 30 EDU RC 04	RG/GE PSC 32 EDU 03 PHIL 26 ECO 12 HIS 25	HE-5026 PSC 25 EDU 40 lab PHIL 03 ECO 12 HIS 26 HIN 46 AS 31 ENG 30 ECO RC 04	HIS RC 26

Principal Paschim Guwahati Mahavidyalaya

Dharapur, Guwahati- 17

Principal

Pacchim Guwahati Mahavidyalaya

P.O. Azara, Guwahati - 17

DAY	CLASS	9.00-10.00 AM	10.00-11.00 AM	11.00 AM -12.00	12.00-01.00 PM	01.00-02.00 PM	02.00-03.00 PM	03.00-04.00 PM
	HS 1 ST YEAR	EDU 34	PSC 34	MIL AS 34 MIL HIN 28 ALTE 31	LOGIC & PHIL 34	ECO 34	AD AS 34 AD HIN 28	HIS 34
THURSDAY	HS 2 ND YEAR	LOGIC & PHIL 33	ECO 33	ENG 33	MIL AS 33 MIL HIN 28 ALTE 31	AD AS 33 AD HIN 28	HIS 33	EDU 33
	UG 1 ST SEM	HIS M/M 37	HIN M/M 37	PHIL M/M 37	ENG M/M 37	MDC 1 37	EVST VAC 1 37	PSC M/M 37
	UG 3 RD SEM	EDU M/M 49	ENG M/M 49	HIN M/M 49	ECO M/M 49	SEC 3	MDC 3 49	HIS M/M 49
HI	UG 5 TH SEM	HIS RC 26	HC – 5016 PSC 43 DIGITAL EDU 42 DIGITAL PHIL 12 ECO 03 HIS 25 HIN 28 AS 31 ENG 30 EDU RC 32	HE – 5016 PSC 32 EDU 41 PHIL 42 DIGITAL ECO 43 DIGITAL HIS 26 HIN 46 AS 25 ENG 30 PSC RC 03	SEC	HE – 5026 PSC 46 EDU 40 lab PHIL 12 ECO 41 HIS 42 DIGITAL HIN 43 DIGITAL AS 31 ENG 26 PHIL RC 04	RG/GE PSC 04 EDU 03 PHIL 25 ECO 26 HIS 26	HC - 5026 PSC 32 EDU 41 PHIL 03 ECO 12 HIS 31 HIN 30 AS 25 ENG 26 ECO RC 04

AY	CLASS	9.00-10.00 AM	10.00-11.00 AM	11.00 AM -12.00	12.00-01.00 PM	01.00-02.00 PM	02.00-03.00 PM	03.00-04.00 PM
	HS 1 ST YEAR	LOGIC & PHIL 34	HIS 34	ENG 34	MIL AS 34 MIL HIN 28 ALTE 31	EVST 34	PSC 34	ECO 34
	HS 2 ND YEAR	MIL AS 33 MIL HIN 28 ALTE 31	EDU 33	ECO 33	LOGIC & PHIL 33	HIS 33	AD AS 33 AD HIN 28	PSC 33
	UG 1 ST SEM	EDU M/M 37	ECO M/M 37	HIN M/M 37	ENG M/M 37	AEC 1	PHIL M/M 37	AS M/M 37
FRIDAY	UG 3 RD SEM	HIS M/M 49	SEC 3	PHIL M/M 49	HIN M/M 49	ENG M/M 49	AS M/M 49	ECO M/M 49
FR	UG 5 TH SEM	PSC RC 03	HC - 5016 PSC 32 EDU 41 PHIL 12 ECO 30 HIS 31 HIN 28 AS 43 DIGITAL ENG 42 DIGITAL AS RC 04 HIN RC 25	RG/GE PSC 03 EDU 04 PHIL 31 ECO 26 HIS 12	HC - 5026 PSC 32 EDU 40 (LAB) PHIL 25 ECO 12 HIS 46 HIN 26 AS 30 ENG 41 HIS RC 04	HE - 5026 PSC 32 EDU 40 (LAB) PHIL 12 ECO 03 HIS 46 HIN 26 AS 30 ENG 41 ECO RC 04	HE - 5016 PSC 31 EDU 41 PHIL 42 ECO 12 HIS 25 HIN 26 AS 28 ENG 30 PHIL RC 32	EDU RC 51

Principal
Paschim Guwahati Mahavidyalaya
Dharapur, Guwahati- 17
Principal

Principal
Pacchim Guwahati Mahavidyalaya
P.O. Azara, Guwahati - 17

DAY	CLASS	9.00-10.00 AM	10.00-11.00 AM	11.00 AM -12.00	12.00-01.00 PM	01.00-02.00 PM	02.00-03.00 PM	03.00-04.00 PM
	HS 1 ST YEAR	AD AS 34 AD HIN 28	EDU 34	LOGIC & PHIL 34	ENG 34	MIL AS 34 MIL HIN 28 ALTE 31		
	HS 2 ND YEAR	ECO 33	PSC 33	HIS 33	AD AS 33 AD HIN 28	ENG 33		
	UG 1 ST SEM	PSC M/M 37	HIN M/M 37	HIS M/M 37	AS M/M 37	ECO M/M 37		
DAY	UG 3 RD SEM	EDU M/M 49	AS M/M 49	PSC M/M 49	INTERNSHIP	INTERNSHIP		
SATURDAY	UG 5 TH SEM	SEC	HC - 5016 PSC 41 EDU 40 lab PHIL 12 ECO 03 HIS 28 HIN 30 AS 31 ENG 26 AS RC 03 HIN RC 46	HC – 5026 PSC 41 EDU 40 lab PHIL 03 ECO 12 HIS 46 HIN 26 AS 31 ENG 25	HE – 5016 PSC 41 EDU 40 lab PHIL 12 ECO 03 HIS 26 HIN 25 AS 31 ENG 30	HE – 5026 PSC 41 EDU 40 lab PHIL 03 ECO 12 HIS 26 HIN 25 AS 42 ENG 30		

